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@ (a+b)? =ad?+ 2ab+ b?
@) (a-b)? = a® - 2ab + 1?
® (a+b)(a-b)=a® - b?
@ (x+a)(x+b)=x>+(a+b)x+ab

® (ax+b)(cx+d) = acx* + (ad + bc)x + bd
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a® — (ab + ab — b*) = a® — 2ab + b* ©|t}.

wetA] (a—b)(a—b) = a®> —ab — ab + b* = a® — 2ab + b? | T}




3. x=2,y=-3%Y, 2x+5y- (3y-3x) & AXlstA?

@ -8 @ -4 @1 @ 2 ©) 2

(FA)=5bx+2y=5%x2+2x(-3)=4




x4 2y =56 9 off FollA x<y

@ (0, 28) @(2, 21) @(4, 14)

x=1,2 3, = A= WA 7x + 2y = 56 9] =

(2, 21), (4, 14), (6, 7) ©]AL O] A2 BF x < y & TrE3tct,
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(—=ab*)? = ab®> = —@’b” L W], x —y 9] G127




8. 2x+3)2+(x+2)Bx+1)=ax® +bx+c¥E W, F5a, b, ¢ 9
a+b+c o 32?

D 11 @ 22 ® 33 @44 ® 55

B

2(x? 4+ 6x+9) + (3x% + Tx + 2)
=2x% +12x+ 18 +3x2 + Tx + 2
= 5x2 + 19x + 20
a=25,b=19, c =20
sLa+b+c=5+19+20=44
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2x+3y=5 bx+4y=14

x—ay=4 ’ —X+y=
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2x+3y= 5

+)2x+2y =10
5y =15

Ly=3, x=-2
x o @y of e

x—ay=4

bx+4y =4
of thA5}H ¢ = —2, b =4 7} L}2r}
.. a—b:—2—4:—6




11, Bx)> =81x** 4 W, a+ b O] 27

@ 6 @ 7 ® 8 @ 9 ®)10

(3x7)b = 3bx = 81x24 O|BLE b =4, ab = 24 o]t}
et g =6 0B a4+ b=6+4=10 o[tk




12, (—2x%y)? + (=x3y?)3x0 = 8x o] O ¢hof] Yeh-2 A& +ote)
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4x8y? + (=x%0%) x 0 = 8x
4
———XO = 8x

O = -2x%y*
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(x+1D)(x+2)(x-3)(x—4)

= {(x+1)(x = 3)H(x + 2)(x - 4)}

= (x* - 2x-3)(x? —2x - 8)
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15. A4 {5x‘2y:3 & WESH x oy o gHel W7 -

x:y=1:20B2y=2xF5x-2y=3° HUstHx=3,
y=60°] 421 ax+y= -3 J¥s}IH a = -3 ©] HAr}.




